
𝐴𝐵𝐶𝐷𝐸𝐹 is a regular hexagon,
with centre 𝑂. 

a) Write the vector 𝐴𝐷

b) Write the vector 𝐴𝑂

c) Write the vector 𝑂𝐶
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Vectors

Vectors 𝒂, 𝒃, 𝒄, 𝒅 and 𝒆 are shown on the gird.
Write each of the vectors 𝒄, 𝒅 and 𝒆 in terms of 
𝒂 and/or 𝒃. 
𝒄 =_________

𝒅 =_________

𝒆 =_________

𝒂

𝒃 𝒄

𝒅

𝒆

O

A

B

1) What is the vector 𝐴𝐵?

2) What is the vector 𝐵𝐴?

5𝐛 + 𝐚

2𝒂

𝒂

4𝒃

𝐴 𝐵

𝐶

𝐷𝐸

𝐹
𝑂

O

A

B𝐚

C

𝑂𝐴𝐵 is a triangle. 

a) Find 𝐴𝐵 in terms of 𝒂 and 𝒃.

𝐶 is the point on 𝐴𝐵 such that 𝐴𝐶: 𝐶𝐵 = 3: 2.

b) Find 𝑂𝐶 in terms of 𝒂 and 𝒃.
Give your answer in its simplest form. 

O

A B C

OPA, OQB and ABC are straight lines.
P is the midpoint of OA.
Q is the midpoint of OB.
B is the midpoint of AC.

𝑂𝐴 = 4𝒂, 𝑂𝐵 = 6𝒃

1) Write the vector 𝑂𝑃

2) Write the vector 𝐴𝐶

3) Write the vector 𝑄𝐶

P Q



𝐴𝐵𝐶𝐷𝐸𝐹 is a regular hexagon,
with centre 𝑂. 

a) Write the vector 𝐴𝐷

b) Write the vector 𝐴𝑂

c) Write the vector 𝑂𝐶
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Vectors
Answers

Vectors 𝒂, 𝒃, 𝒄, 𝒅 and 𝒆 are shown on the gird.
Write each of the vectors 𝒄, 𝒅 and 𝒆 in terms of 
𝒂 and/or 𝒃. 
𝒄 =_________

𝒅 =_________

𝒆 =_________

𝒂

𝒃 𝒄

𝒅

𝒆

O

A

B

1) What is the vector 𝐴𝐵?

2) What is the vector 𝐵𝐴?

5𝐛 + 𝐚

2𝒂

𝒂

4𝒃

𝐴 𝐵

𝐶

𝐷𝐸

𝐹
𝑂

O

A

B𝐚

C

𝑂𝐴𝐵 is a triangle. 

a) Find 𝐴𝐵 in terms of 𝒂 and 𝒃.

𝐶 is the point on 𝐴𝐵 such that 𝐴𝐶: 𝐶𝐵 = 3: 2.

b) Find 𝑂𝐶 in terms of 𝒂 and 𝒃.
Give your answer in its simplest form. 

O

A B C

OPA, OQB and ABC are straight lines.
P is the midpoint of OA.
Q is the midpoint of OB.
B is the midpoint of AC.

𝑂𝐴 = 4𝒂, 𝑂𝐵 = 6𝒃

1) Write the vector 𝑂𝑃

2) Write the vector 𝐴𝐶

Write the vector 𝑄𝐶

P Q

𝒂 + 2𝒃

−2𝒂 + 𝒃

−𝒂 − 3𝒃

𝟑𝒂 + 2𝒃

−𝟑𝒂 − 2𝒃

2𝒂 𝐴𝐵 = −4𝒂 + 6𝒃

𝐴𝐶 = −8𝒂 + 12𝒃

𝑄𝐶 = 𝟑𝑏 − 4𝒂 + 6𝒃 = 9𝒃 − 4𝒂

𝐴𝐷 = 3𝒂 + 4𝒃

𝐴0 =
3

2
𝒂 + 2𝒃

𝐹𝐶 = −4𝒃 + 2𝒂 + 𝒂 = 3𝒂 − 4𝒃

𝑂𝐶 =
3

2
𝒂 − 𝟐𝒃

𝐴𝐵 = −𝒃 + 𝒂

3

5
2

5

𝑂𝐶 = 𝑂𝐴 + 𝐴𝐶

= 𝒃+
3

5
𝒂 − 𝒃

=
3

5
𝒂 + 𝒃 −

3

5
𝒃

=
3

5
𝒂 +

2

5
𝒃


